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jexdx:ex+c, jidx=ln|x|+c, Isinxdx:—cosx+c
X
1. jezxdx= 2 je“ldx:
3. e dx= 4. [(e-3)dx=
5. I(ex+2x)dx: 6. I(ex—x)dx:
7. [(-edx= 8 Izidxz
X
9 jidx: 10. (-1 dx=
nx X+ 2
11.[ 1 ax= z.j 2 dx=
3x+4 10x+3
13.[ € _dx- 14.j 1 ax=
ax+b cx—d
15. Isiandx: 16. jsin(—3x)dx=
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1. [sin(x+5)dx = 2. [sin(x-1)dx=

3. jsin(—Zx—3)dx: 4. Isin(ax+b)dx:
5. jcos 3xdx = 6. j cos(—2x)dx =

7. jcos(x—4)dx = 8. jcos(Zx—G)dx =
9. Icos(—Zx +5)dx = 10. jcos(? —-3x)dx =
11. Jcos(ax +b)dx = 12. j55ec2 xdx =

13. J'sec2 3xdx = 14, j5S€C2 xdx =

15. jsecz(x +1)dx = 16. Isecz(2x+1)dx =
Jlacranei ayraap| 1 2 3 4 5 6 7 8 Huiir
Oopuiin yHIIr

Barummits yHyIra»
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1. je‘*dx = 2. je“”dx =
3. [3edx= 4. [(e7+e)dx=
« 1 3x
5. [(e )= Ie i =
X
e
1 In2
7 Iexdx = 8. j e*dx =
0 1
1 1 1
9. J.e“xdx = 10. I(Zex +—)dx =
0 0 €
3 In3 1
11. I(ez" —1)dx = 12. j (e —=)dx=
1 0 €
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1 1 1
13. dx = 14. + dx =
J'2—3x J’(3x—2 2x—5)
2 3
X" +3x+4 X’ —X+2
T LELALE 16 [ 2
X X
1 2 1 2
17. | (=—+——)dx= =
I(3X4 1_3)() 18. j((x—1)3+2x—1)dx
! ¢4
19. [——dx= 20. [ ——dx=
o X+1 7 3X+2
5 4
3
21. I—dx: 22. I(i—l)dX:
o X~ T X—=2
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23. J(Sin 2X+C033X)dX: 24. I(sin§+cos5x)dx=
25. j(3sin x—4cos§)dx: 26. J.33in(X—4)dX=
= . X
27. [5eos(3x+2)dx 28, f(sm 2x+cos —sec3xj dx =
T 7
29. E[sln xdx = 30, .[ 05 2xdX =
N
3l I cosec’xdx = -~ fsecz 3y =
% 0
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If (X)dx=ln|f(x)|+C, }KHmaa.I 2 ix=
f(x) 2x-3
(2x—3) =2 1yn J'de =In[2x-3|+C
2x—3
1 [(Sdx= 2. I 3 =
X 5x—-2
X 4x
-[x2 -1 I3x2 +8
3x* 6x’
5. dx = 6. dx =
j X} +7 J 4% +3
2x—3 2x—-4
7.| —dx= 6. | ——dx=
Ix2—3x—1 jx2—4x—6
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J- 6x—7 _ 10 J' 8x—6 _
3x* —7x—4 " 2x*—3x+4
2X—6 X
11. dx = 12. _[ ° gx=
“x*-3x+8 e*+1
e’ 2e”
5. J —dx = 7. j ——dx=
S5+e 2e"+3
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2X X —-X
e e’ +e
1 J.5 eZXdX: .[ex e—de:
3. jsinxcosxdx= 4 jSiﬂd _
COS X
COS X COS X +Sin X
5. [ 20X gy - . [CoSXrSInX g,
1+sinx Sin X —Ccos X
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H] o]
SIn“ X Sin“ X
6. I dx = I dx =
tgx tgx
8. jthxdx: 4, Isin 2X€0S 2xdx =
5, J"”_de= 9. |sin® xcosxdx =
X
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H] o]
SIn™ X SIn™ X
[=—dx= 9. [Z—dx=
tgx tgx
10. [tg5xcx = 4. [sin2xcos 2xdx =
5, J"”_dez 10. Isin3xcosxdx:
X
Hyyccan ....... OH ..... cap ..... eJep .... ar



